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(n +2) (n + 1)n in factorial formis
n(n - 1) (n - 2) in factorial form is
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For a positive integer n

If n is a positive integer then n! is
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asec(ax+b)+c
-asec(ax+b)+c

.acot(ax+b)+c
.-acot(ax+b)+c

.atan(ax+b) +c
.-atan(ax+b)+c

n!
0!
1
None of these

.asin(ax+b) +c
.-asin(ax+b)+c

.acos(ax+b)+c
.-acos(ax+b)+c
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ne of these

56

8/7

5x<sup>4 + c</sup>
1/6 x<sup>6</sup>+c
5x<sup>2</sup>+c
1/5 x<sup>6</sup>+ c

360

720
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None of these
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None of these
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Not defined
n'=n(n+1)
n! =n(n+1)!
n'=n(n-1)
n!'=n(n-1)!

(n-1)(n-2)....3,2.1
n(n-1)(n-2)..3.2.1
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The third term of the sequence ap= (-1 )”‘1(n-7) is

The fifth term of the sequence an=2n + 3 is

If a4= 3, r = 2, then the nth term of the G.P. is

If a1, r and apare the first term, common ratio and the nth term respectively of a G. P. then
an=
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The 6th term of an arithmetic sequence whose first termis 3 and common difference in zero
is
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None of these
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2.3<sup>n-1</sup>
3.2<sup>n</sup>
3.2<sup>n+1</sup>

a<sub>1</sub>r<sup>n</sup>

a<sub>1</sub>r<sup>n+1</sup>
a<sub>1</sub>r
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